Module Name : Mathematics
Exam Date : 16-Feb-2022 Batch : 09:00-12:00

Sr. No. Question Body and Alternatives

If (G, *) be a group such that a2 = e for all a € G then (G, *) is an :
(G, *) eT6OTLIG 62(IH (H6VLD 6T60T16V a2 = e LDMMILD Va € G 6T60TEI M LI600TL| & 6068 68 MT6vor(h)
@\ (H& G LOMUIl e (G, *) 6TedT LIS 6(1H :

A : Semi group
LTS &6vld
B : Finite group
WYe|D G6iD
C : Not a finite group
OLYE|MIT G6VLD
D : Abelian group — (Correct Alternative)
geILIedI W eT G6Vld
If F be a finite field of characteristic p and |F| = p" then Aut(F) is called a group of order n.

F 6T6edTLIS! (D964 M Q& TGSGH U 6T al6m&5H618 (R p LDMMILD [F| = p" 6T6dTMM6L Aut(F) 6T60TLIENS
G6eVld aUflem& n 8L, LD.

A : Abelian group
N6l wiedr G evld

B : Finite group
P96l G6VLD




C : Infinite group

(P96 MIT G6ULD
D : Cyclic group — (Correct Alternative)

QUL L& 6VlD
Which one of the following is not an Integral Domain ?
& LD 85600T L6061 56116V 62 (IF 1 §3) 610 600T U TS5 6T600TS6TLD UITEI 2

AZZ3

D : Z4 — (Correct Alternative)

Z4

If Gis the set of all 2 x 2 matrices [G tde where a, b, ¢, d are real numbers such that

ad — bc =1 and the operation is defined as multiplication of matrices, then Gis :

" ' - ] b . .
G €T60TLI&)| ad — bc =1 eT6iTMEUTM)] 2 616 2 x 2 2600TI 6T | 2 d]J &eNl6T &600ILD, a,

b, ¢, d em6iter GQUOILICILIGIOSET ODMMID  CFILIEOULITETEH  S600TI&61Tl6oT
CILHESHELTS QUEHITILIMISSILL L 6D, G eT6iTLIG)

A : a finite group
(b (PLY.66ITEIT G6VLDd




B : a finite abelian group

& (LNL.66TeT 3JLN69lw6dT & 6uLn

C : an infinite abelian group

@6 (LNL96MIT LN60 W6 Geuld

D : an infinite and non-abelian group — (Correct Alternative)
@ NIGeMIT HMID HLT6TUIET {6V6VITS G6ULD
If G is a group and order of G is p™ (where p is a prime number and n is a positive integer) and if N # (e) is a
normal subgroup of G and if z is the center of G, then :
G 6TEOTLIGI 2(H G6VLD LM MILD p” 6T60TLI I G—60T eUflend (@) MHI& p 6T60T LIS 62(H LIGIT 6T600T

LOMMILD n— 2(H L& (LN 6T600T) LOMMILD N # (e) 6T6T LIS G-60T GBHIemLD 2 L (&6VLD LD MHMILD
7 6T60T LI &1 G—60T 6mLOWILD 676016V :

A : Nnz # (¢) — (Correct Alternative)
Nnz # (e)
B : Nnz=(e)
Nnz = (e)
C:Nnz#e
Nnz #e
D:Nnz=¢
Nnz=¢
If R is the set of even integers under the usual operations of addition and multiplication, then :

R 6T60TLISI 6ULDGHELNTE0T Q& U6 E6TIT60T Sml L6V LDMMID QLI[HESH6VSH6N60T HLb @) TL_ 0L
(LD (LD 6T600T S 61Tl 60T G600TLD 6T60T16V :

A : R is a ring and has unit element
R 91,6071 62([H QU6MAETUILD LOMMILD VS 2 MILIenLI Q& T600T L&l

B : R is a commutative ring and has unit element




R @y60r8 LFIIDMHMI 6U6m6TUILD IDMHMID 6VE 2 MILIen L G\&TevorTL Sl

C : R is a commutative ring but has no unit element — (Correct Alternative)

R &y,6018 LFIIDMHMI 6UEm6TUID L60TITE 36V 2 MIL160) LI @ 85T600TL9.(1H & 856l 6V 6™ 6V

D : R is not commutative ring

R 6018 LFIDMHMI 6U6M6TUID {606V
If {Sn}:=] is a sequence of real numbers then :

(s}~ _, et6iTLig) Qi eTeoor Qgmij ersufled :

A: lim infS, = lim SupS,

n—oo n—oo
lim infS, = lim SupS,
M—e00 M—00

B: lim infS, = lim Sup §,

n—x n—w
lim infS, = lim Sup S,
n—mo n—

C: lim infS, = lim SupS§, '
B B — (Correct Alternative)

lim infS, = lim Sup S,

N—a0 M—00

D: lim SupS, = lim S,

n—x M—oo
lim Sup S, = lim §,
n—xo M—0

From the following which of the interval is the example of countable covering ?
LY edTeupLd @) 6emL G euerlserflev 618 6TevoTe00TS &85 CLIMTIeMeUsSH S T(h&HSIHSHTL(H ?

A:1/m<x<2m(n=23,4,...
ImM<x<2m(n=2,3,4,...
B:1/m<x<2mh(n=2,3,4,...

N = N

— (Correct Alternative)
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Im<x<2m(n=2,3,4,...)
C:2mn<x<1m(n=2,3,4,...)
2Im<x<1mn=23,4,...)
D:2m<x<1Im(n=23,4,...)
2m<x<1mn=2,3,4,..)
Let N be the set of all natural numbers. Then :
N 6T60T LIS @) ULI6V 6T600TE561TIT6VITE0T &600TLD 6T60T&, 2| L1GLIMSI

A 1 N? is countable — (Correct Alternative)
N2 eTevoT600( 1 L8 & 858 S
B : N2 is uncountable
N2 6T6v0T6001 L5 & 8585 5606V
C : N2 is countable finite
N2 6TevoT6001 L& &858 (LDLY.6)6IT6IT 856007 LD
D : NZ is finite
N? (LD19.6)| 6IT6IT 85600TLD
Let S < R™and x € R™ If every n-ball B(x) contains atleast one point of S distinct from x, then x is called :
S = R LDMMILD x € R™ 6T60TS.
6TIHSHG6UMT(IH n—LIH S B(x)-8WILD x—60US Sl JE S S—60T 62([H L|6Ter | WLIMeUSl 2 _6Temgl 6T6ot160 X
25601

A : an isolated point of S
S—60T &601155 L|6Ter] 9@
B : an accumulation point of S

S—60T 6T6VEM6VLI L6Ter] 9l &L




C : neither open nor closed
S—601 2_L_L6ierfl 9L,
D : an exterior point of S

S—eo7r QeuerflliLeiTerfl oy,@ LD
Correct Answer : **

The value of lim is

n—sx N + 1

lim

]
n—o s.g‘r‘l + 1

—607 LOGILILY

A : 0 — (Correct Alternative)
0
B:1

Theset{xeR:3 neNand x= %}U{D}is:

{xeR:3 ne NIDDMID x5 l}u{O}EI’EBTLI] & 600TLD
n

A : Closed but not bounded

eLNIQ WIS SL,60TIT6V UTLDLI6LeVTH S
B : Bounded but not closed
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GUTLDL|6TETS 4,60TIT6EL eLOLY U606V
C : compact — (Correct Alternative)

HEF G LDMETS
D : Not compact

FHEF 0TS 606V

Using the Fourier series for f(x] = x, -1 £ x < m and using Parseval's identity, the value of
]—; QLZ + 3—'2 e o
-1 € x £ n 60 flx) = x -6 Wiy QHTLemIn UWETUGES  mHmILD
umjerdleumedey  (LPMEMITIHEMIDMIL  LILIGTLI(E & Iiz + 2—12 + é +... —60r

LD&WIL] :

A

@)
R v.'.>o|-1,\j ODH\: 41"',\, ﬂu|",\, w|ds w|d

— (Correct Alternative)
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2
6

j1+ , if—m=x=0

If f(x) = 4
-

then the value of Fourier coefficient bn is :

, T 0=x=w

3% a|¥

2x

I+ —, —m=x=0

fix) = "
1—§, D=x=m

i

61601160 LYl (S60018HLD bn—60T LOGIIL] -

D : 0 — (Correct Alternative)
0

If fe 2([—, =]). then ED|f{n:i2 = Z—Lr _[ ff{x}* dx is known as :
n= CE

fe Lz{_ |:—|—., -—.] }, 6T60TI60 z
n=0

f(n)? = g% [ )2 dx ap@Lb, @ :
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A : Parseval's theorem — (Correct Alternative)
Guryenveumeverdesr G&HMmmLD

B : Plancherel's theorem
YermesrerdlrevenSlesr G MMLD

C : Fisher theorem
LNerverviflest @xmmLD

D : Bessel's inequality
GLI6nenedl 6T &LoLOl6oTEnIL0

Fourier sine Transform of [f'(x)] is :

[f(x)] —60T L,iflWlf em&eor Lommn)l :
A : -SF(s)
-SFy(s)
B : -SF.(s) — (Correct Alternative)
-SF(s)
C: S2F(s)
S2F(s)
D:-$?F(s)

-S?F(s)

Let R = (~m, o) Assume that f = LE[R) and g = L%[R). Then the convolution integral

hix) = J f(t) g(x — t)dt satisfies.
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R = (~o0, «) 616018, f e L2(R) LDMMILD g = L2(R) 6Teufléd oigl1L1G CHTenSIUTE L THE
Clailieug] hix) = T f{t) alx — t)dt pe018.

A hx)| < |If || ||g || — (Correct Alternative)
IhG)I= [IE ]l g |l
Bt |h(x) [~ [If ]l llg
(WG [IE 1] Il
C: hx) [<||f]]
IhGO)I=< (||
D hx) <lg |l
Ih(x)I<llg

e

£

If the Fourier series of periodicity 2n for f(x) =x2in-t<x<mis
—_— o — n
f(x) = — +42r 2 cosnx then 3 L¥a

3 n=l N n’

-
=

fix) =2, -1 < x < 1-&G BM6L 66 21 2 6MLILI HT6D UL & Fmiyiledr Lyflwieor

2 oo oo
. T = . 1
QEm_i] fix) = — +4‘}_‘mcosnxﬂﬁ’ﬂﬂ50 p—"
3 i sl
n=l N =1 N
A: 2
90
S
90
B: 3
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20 _ (Correct Alternative)

Let C be the given curve and C; be the locus of its centres of spherical curvature,

> 3 >

then for the moving friad (’r]. m, b]] on C, T_; =
C Qaem(ésUullL  eusneme] LWMHMID C; G601 GoHTET  eusnHemelsin

coLDILIMIGeTeT @I oms GQh&&SL (KL, Ulsiier] C,-@ed @UBS@GLD H&(HLD

—- = —!}1—]r=

(L &CHTEISHHIMNE (t,, M. by

. —
A ern
=g
E']ﬂ
. —F
B: —eey 1
_’
—eey 1
. —
C'eb

— (Correct Alternative)

o
Tl
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The condition for a minimal surface becomes

@ Qeueflwmens &emmbSLILEF Qeleflumg @heHeS CHemeaullmeT &L GLILITH

A : EN+ GL - 2FM = 0 — (Correct Alternative)

EN+GL-2FM =0
B:EN-GL-2FM =0

EN-GL-2FM =0
C:EN-GL+2FM=0

EN-GL+2FM =0
D:EN+GL+2FM=0

EN+GL+2FM =0

A curve C is a plane curve if and only if :
62(IH GUEDETEUMIT C 60T &6T6U6DEITEUEMTLIITE @) (HEE CFH 66U WITEOTSILD LM MILD
GLIMSILDITEOTSI 885 T60T [ LITH &5 60)60T :

A:k=0
k=0
B:itisacircle
GUEDEITEUEM [T UIMEOTSI 62(H GUL_L_LD
C: 1=0—(Correct Alternative)
=0
D :itis an arc

6UEMEITEUEM [T ULIMTEOTS! 62(1H 616
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The envelope of a family of spheres of constant radius ¢ and centres on a circle of radius b(>c) is :
QLD ¢ LDMHMID 6D b(>c) 2_emL W G&meT & HLDLISH 60T Hpellulmeors :

A : trihedron

1960V Q& L_[J60T

B : a torus — (Correct Alternative)

62(H GLITT6

C : asurface

6(H GLOMS6TLD
D : apolygon

62(IH LIV E&HITE0OTLD

The radius of curvature pj of the locus of the centres of curvature is :

6UEDETEY 60O 6UED T LITen HUN 60T GUEMEITEY QLTI py 6T6OT LIS :

A
M=
M=

B:

P =
P =

[¢?

| R3

q

d
ds

£
|
ﬂ] hLL
p ) EJ
(1Y ]'2
o [
p R
12
|
U_p]l_i}Jr
P J R_
12
|
U_p]l_i}Jr
P R_

[ =t

— (Correct Alternative)
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The principal radii of curvature of the surface y cos(z/a) = x sin (z/a) are equal to :
y cos(z/a) = x sin (z/a) 6T6OrHM GLOMUTLILIM&TeT alemeTeaueny &ellulledr L& meor [ mhigHeT :

A

2
_|lp7o d
P |_R3 ds
_|e%e a
P _[ES ds
_|[e% @
d _[E*B ds

g

+ (x2+y2 +a2)a

t+(x2+y2+a)a

+ (x2+y2 +a)a

‘+(x+y2+ad)a

+(x+y2+a?)a

t+(x2+y+ad)a

+(x2+y+a?)a

Al —

pa| =

1]
raf

D+ (x2 + y2 + a?)/a — (Correct Alternative)
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Find the inifial basic feasible solufion of the following fransportation problem by
Vogel's approximation method.

Warehouses

W, | Wy | Wa | W, | Capacity

Fi119 |30 |50 (10| 7

Factory F2| 70 | 30 | 40 | 60 | 9
Fa| 40 | 8 |70 | 20 | 18
Requirement 5 8 Fag

VAM (LpenMenILI LILIGTLI(R&GS DL FrdhSILIDmeT Sijenel SHevuLMlLiGLD.
HIL_RI@E ST
Wy | Wo | W3 | Wy | Simeir
(19|30 |50 (10| 7
CBTNMEFTEMED Fp [ 70 | 30 | 40 | 60 | 9
Fs (40| 8 |70 | 20 | 18
(B@ﬁ'mgu 5 8 7 4 34

A :z=Rs. 500
z=1Rs. 500
B:z=Rs. 722
z=Rs. 722
C:z=Rs. 800
z=Rs. 800
D : z=Rs. 779 — (Correct Alternative)
z=Rs. 779

The M/G/1 Queueing system represents :
M/G/1 SW,MBI LOML6L SLhel[HeUetTalmenm &M &HHMS! :

A : A single server, Poisson arrivals and general service time distribution — (Correct Alternative)
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62(IH @MenM CFemaUWISHLD, LIMULIETeT GFemel LDMMILD QLTSI G&Femed GBIy
N BIGWITEs LD

B : A multi server, Poisson arrivals and general service time distribution

L6V GFemeUUIS LD, LIMUL6ENITeT GFemeal (aU(Hems) LDMMID QUITS CFemel GBI
eI BIGWITSs LD

C : A single server, exponential arrivals and general service time distribution
6(H MMM GFemeUUIGHLD, 6TerVGILIMeoTendl 6L GFemel (6(HEME) LDMMILD QLTSI
GFemeu GBI &lmGUWIMESLD

D : A single server, exponential arrivals and Poisson service time distribution

&(H M6 M BF 606, 6T6N G LIMeoTeNSI LIV QUHENSHUISHLD LIMUIermer GFemeu GHIy
I BIGWITss LD

The necessary and sufficient condition for the existence of a feasible solution to the transportation problem is :
@(H FTSHUILDTeT HTal6rT @)HLIL &G G5 em el U Teor LMMILD GLITSILO 60T
IB1LIH & 60)60TSH6IT: @)HI S

a; — S L1L960T 3j6meme LD

b; — GFHemeuUleir 2jemenellid &Ml&GLD.

A: m n
2.q = 2. b
i=1  I=T  _(Correct Alternative)
m n
2. G =2b
i=1 j=l

B: m _n
Saq<Yb
i
m n
2.6 < 2 b
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In M/G/1 Queueing Model the value of p is :
M/G/1 auiflem& r& ifluflev p —elledr DS LIL] 2

A : p=AE(s) is smaller than 1 — (Correct Alternative)
r=1E(s),l 8 L Gemme
B : p =X\ E(s) is greater than 1
r=1E(s), 1 8 el 951D
C: p=-AE(s) is equal to zero
r=-1E(s). LBBWSH DS &LoLd
D : p=- A E(s) is not equal to zero
r=-1E@) LRSlWsGH MG &FL0LD ©)6V6m6V

If the optimum solution is infeasible, which method is applied for obtaining a feasible solution ?

2 HHhS HJe FMESHULDITETSHTSH @)6V606V6 UETMITE, &S UILDTET HI6| HenL &5

eTeumen M LiweTLI(h & & Geuevor(hLD ?
A : Simplex method
G0 L6860 (Lemm

B : Dual Simplex method — (Correct Alternative)




LTS FIDLIETE 6V (LD m
C : Two - phase Simplex method

@\ (B &L_L SFDLI6TE 6N (LNemm
D : Dynamic method

emLeoTLOl& (LD M
The pay-off at the saddle point is called

QauLl (LI Yemeflem ] QUITMIS S @@as@asrr@uu 6T6OT LIS
MPESHLILIGSH M.

A : Fair game
Bev6V elememumL(h
B : Zero - sum game
LSl u-Fa(H) H6V ellemeruldmL_(h
C : Value of the game — (Correct Alternative)
e 6L 19607 L0 L1L]
D : Two - person game
@ evor(h) efTF&EeT adlemerwi ()

For any real or complex numbers x = (X3, X5, ..o X5}, ¥ = (V7. Yo oo ¥nlo

n

= [Ixlp V”l is true under the condition.
< g

i=1
X = (X), X e Xp) DOMID v = (v}, Yo, woor V) SpBILIGT JCHEDILD CIDILI SHEDELG)

n
&EVLIL| €TEIOISET, 3 |x, v,
i=1

= Iy |Iv], ET6ITLIZ) 6T60G GILITM| & &] GLDILILITEGLD.
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9 P
P 4
p<];l+l=1
P 4
C: p<];l+i:]
B q
p{ljl-l-i“-_l
B q
D: p>|;l+£=1
P 4 — (Correct Alternative)
p>l;1+l=1
P

If T be an operator on a Banach space 'B' and T has an inverse T~} then :
B 6T60TM LIM60T8 Gleuerflufley T eTedT LG auem Tl misSLILL L QFwed nmmith T-6T GBI LOMm)
T-l-e3 QUMM HLIL eoT:

A (T*y! = (T-1)* — (Correct Alternative)
(T*)'l — (T'l)*
B eyl (T
(T*y L (T
Cimreyl=T
(T*y!=T
D: (T*yl =T*
(T*)! = T*
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If X and Y are Banach spaces and A : X — Y is a bounded linear transformation that a bijective, then :
X IDMMID Y 6T60TLI60T LIGOTITE Qeuerlgh6T Lnmmild A : X — Y 62(Ih 6260T NI & 60T M)
GL6LIDMMMI (bijective) QUTLDLISGL_LILL FTJL| 6T60T16V:

At A"l is continuous
Al QamLIFRWMaTS)
B : A-l is bounded — (Correct Alternative)
Al augbemLwi gl
C: Al s discontinuous
Al QsTLiFRWmHmSE!
D: Al is unbounded
A auglbumm S
If k is a subspace of a Hilbert space x and then k is closed iff :
X 6T60TM MIVGUITL (Hilbert) Gleuerflufledr 2_eT@euerl k eLOQ WIS TS @) ([HESH G606 WIT6oT

LOMMILD GLIMSBILDITET B LIH6m60T:
A: x=xt
k=k'
B : k; | =k —(Correct Alternative)
kj=k
C:k=k;
k=k;

k

D: k
k

Il
-

Let Hy, H, be Hilbert spaces, S : Hy — H, and T : H; — H, bounded linear operators and a any scalar then
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which one of the following is not true ?
H;, H, eTedTLI6oT e@mleuLiTL Qeuerfl&eit, S : Hy — H, Gogvild T : H; — H, 6T60TLI60T
6TELEM V& G L_LIL_ L GBHIlWevL @UISHH &6, o eTeoTLISI 62([H 3j6eTall(h &6V eTevflev,
G LD 600TL_6UMMIET 6T& 2_600Tem DU 6V6m6L:
A:(S+T)*=S*+T*

(S+T)*=S*+T*
B: o«D=aT

() = T
C: (ST)* = S* T* — (Correct Alternative)

(ST)*=S*T*
D:(T*)*=T

(T*)*=T
A subspace M of a Banach space B 1s complete < :

Limeor & Q@ euert] B-ulledr 2_eTGalerfl M —94,607&1 (L0 (LDEMLOUIITE0TS TS @) (HESH G860 6 U T6oT
LOMMILD CLIMSILDITEDT B LI 5560 60T :

A : The set M is open

&e00TLD M 2460751 HDHSS!
B : The set M is closed — (Correct Alternative)

&600TL0 M 91,6015 CLOLQ. U1 S
C : The set M 1is either open or closed

&600TLD M 94,6078 EIMHSS! S{6V6VS! CLOLY LIS

D : The set M is neither open or closed

&H600TLD M 4,60TS1 B MBS SILD eSS HevL WIS
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flz) = =0
|z
= z=0is:
i =

=0 ,z=0 6T6TLg) :

A : continuous
QSTLFEFEF WTeoTS
B : continuous at z= 0
z=0-Q\6V QSTLITFF UITeoTS!
C : not continuous
QEMTLIFFRWMDMS!
D : not continuous at z= 0 — (Correct Alternative)
z=0-@6V QASTLFFRWMHMS!
If all the zeros of a polynomial p(z) lie in a half plane, then :
LISV I EFFMTL p(z) 63T LLEB G WMBISET 0TS SETHS 6T LG @ BEHSLD ereutlev,

A : all zeros of the derivative p'(z) lie in the same half plane — (Correct Alternative)
6U6em & WI(H S 61l 60T p'(z) LL RSl ULITBIS6T 3B S6MTSH6MH TV 3| 6MLDHSI6ETeTS!
B : all zeros of the derivative p'(z) lie on the real axis
6U6m & WD & 6rfl6dT p'(z) L, RSl WIS 6T QIO S FF6L I|6MmLD[H SIS
C : all zeros of the derivative p'(z) lie in the opposite half plane
alem & WI(H &erfl6dr p'(z) LLb2 Sl WIMBIS 6T LDMMMI 3605 S 6THH 6V 360)L0[HSI6ETETSI
D : all zeros of the derivative p'(z) lie on the imaginary axis

aUem & W (h &6rfl6dT p'(z) L, 23l UIMBIS 6T &M LIEN 60T | &F &6V | 60)LD[HSI6TETSI
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The mapping f(z) = sinz is conformal mapping at z :
f(z) = sinz @& MeoOTLDMMT CHMTHSH6V :

AZforollz¢t2n+lJ: n=0,+1,42, ... .
2 — (Correct Alternative)

I 601 €T6DELM WEILINMEGD z = (2n + ]JE R 0 o [ s
B: forall z= (2n + t]é n=10, L]E0 N

1601 €166 LENNMHESLD z = (2n + IJ; n=0,+1,+2, ...

C:forallz=(2n+1)mrn=0,%1,+2,...

z —60T eTeVEVIT LDHILN MG z=2n+ Drn =0, £1, 42, . . .
D:forallz#(2n+ an=0,+1,+£2,...

z —60T 6TV LDHILILN MG z# (2n+ Drn=0, +1, +2, . ..

The necessary conditions for differentiability and analyticity of the function f(z) = u(x, y) + iv(x, y) at a given
point is :

f(z) = u(x, y) + iv(x, y) eT60rm FmiyLIer GHemeaulmeor &L QILILITH&6T, Q&HTHIE& LI L

L ererfluilev :

A

>
I

1
<

<

Il

<
>
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Uy = Vy

Uy = -Vy — (Correct Alternative)
Uy =Vy
Uy = -Vy
D:uy=-vy
Uy = -Vy
Uy = -Vy
Uy = -Vy

A function f(z) 1s analytic on an arbitrary point set A if it is the restriction to A of a function is analytic in some :
6(IH &H600TLD A—6V & MeUGI 62 ([ LieTerfluflev f(z) eTeorm SFMyL] LIGLILITUI6 G185 mevor @ &60flev
SFFTTL UGLUTUIE &ML QL& LD eTeoflev,

A : Open set containing A — (Correct Alternative)
A-83 2 GTEML&H I FHMHSH 8 600TLD
B : Open set not containing A
A-83 2 GTEML&GHIT HMHS &600TLD
C : Closed set containing A
A-23 2 66T GG eLALY UL 85600T LD
D : Closed set not containing A
A—83 @ GITEITL_&&IT eLOLQ.UL &600TLD
The expansion of e* cosx is :
X cosx 6TeoTm FMFLI 6T el fleums&ID :

A )(3 x*
T+x+ — + — +...
3 &
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X X
1 s 2l 8
3 &
B: x3 Xd'
Jr=gresibagal g
3 &
x° x4
ey bapal—urs
3 &
C x3  x*
B e =
3 &
x> x*
TR +.
3 &
D x2 x4
| —%— — —
3 6 — (Correct Alternative)
x3 x4
[ —=xX—— =
3 &

The integrating factor of
(3y? + 2xy)dx - (2xy + x%)dy = 0
(3y? + 2xy)dx - (2xy + x2)dy = 0 6TEDILD FLOGTLITL Q60T Q& Ten&UT_(H& SHITTevor] :

A1
Ry
L
Xy
B: ]
xylx+y) _ (Correct Alternative)
R
xy(x +v)
C:xy

Xy
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X+vy

1
Xty

4 3
The number of linearly independent solutions of d—j — d—; = 3$ + 5i -2y =0
dlx dx ax d

of the form e%* (a being a real number) is :

3
ﬁ i BE - Sdl — 2y =0 ag@Ilh QINGHCIHDF FLOGTUTL lg6iT e (g,
adx?  dx® clx dx

CoiiQuiieser) eusniTleonssr Ghifliied Frym Sijeyserlsin c16801606115H606

A

— (Correct Alternative)

AW W NN = =

4

The differential equation y"+y =0, y(0) =1, y(2n) =1 has :

Q&ETRHSHSHLILILB6TET y" +y =0, y(0) =1, y(21) = | 6T60TM 6UN GGG (D &FLO6OTLITL 19.60T HT6y
6T6OTEOTEU TS @) (HEHEVITLD ?

A : unique solution

@henm Siey

B : no solution

ey @ evenev
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C : infinitely many solutions — (Correct Alternative)
L6V 76 86T
D : two solutions

QULenL Siey

The Wronskion of x and xe* is :

X LDMMILD xeX 6T60TM FITITL]&6rfl60T [IITedTen) &) UI6oT :

At x2eX — (Correct Alternative)

i 2. Ay .
The solutfion of (1 + x<) d—; + 22Xy — 4X> =0 is:

I

: vl + xﬁl =“x®+c,c being arbitrary constant,

3 — (Correct Alternative)
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vl + x?%) = % x* +c,c g SefFengime miled)

B: y[1 —x2) = % x® + ¢, ¢ being arbitrary constant.
y(1 — x?%) = % x* +c,c peug GeFenawme wmhled
C: %fl - x2J = % X2, c being arbitrary constant.
% .
L1 —x%)= 2%, c peugl HafgemELITe oMo
S Enex®) =2 4 , ¢ being arbitrary constant.
1 201452 = 2 4, ¢ being arbit fant
Y Q
C 7 4 3 .
S +x7) = 2%, c Sheuig) ool FemFILITeoT LOMMIEO]
Y

The functions e2X and e3X are :
eZX InMHmMILD e3* 6T60TM &ML &6l :

A : Linearly dependent
Grflu Q&ML LU
B : Linearly independent — (Correct Alternative)

Crplw QSTLILUMDS!
C : Both Linearly dependent and Linearly independent

Crlw QaTLIUemLWg nmmild CHIlw Q&TLFUDMS
D : Neither Linearly dependent nor Linearly independent

Crlw QSTLILMLWE 3606, CHIIW QSTLIFLUMMSID 606V
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Find out the measure of Skewness from the following data, giving the wages of 230

persons.
Wages : | 140-160 | 160-180 | 180-200 | 200-220 | 220-240 | 240260 | 260-280 | 280-300
Boal | g 18 35 42 50 45 20 8
persons :

MeiTeu(HLd HHeUeOI(HHG GHTLLememned &HetorHliLied (L&T(HéeUIULL 230

el SIS 6MTl6oT 2e1lLILD).

oenliLILD : 140-160

1560-180

180-200

200-220

220-240

240-260

260-280

280-300

26 NILIT&6IT: 12 18

35

42

50

45

20

A:04514
0.4514

B :—0.3514 — (Correct Alternative)

-0.3514
C:03514

0.3514
D:-04514

-04514

IfI'lz =+ 080, riz=- 0.40 and OB 7 3 0.56. Find the values OfI’12_3, 132,231

LNGOTOUBHLD 115 3, 1132, 123 1 LDHLIML QSBTHI&HSHLILIL (D 6TEIT r(5 = 0.80, 113 = -0.40 LOMMILD 193 =

-0.56 &600T LM U6 LD.

A :0.759, 0.097, — 0.436 — (Correct Alternative)

0.759, 0.097, - 0.436
B :0.059, 0.859, - 0.536
0.059, 0.859, - 0.536
C:0.097,-0.536, 0.659
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0.097, - 0.536,

0.659

D :0.659, 0.197,—0.436
0.659, 0.197,—-0.436

Find the mode of the distribution given below :

Marks :

510

10-15]15-20

20-25]25-30|30-35

35-40 ) 40-45

No. of students :

5

6 15

10

5 4

[T 60T621 (IH 60TM) M 61T LiTE60I6L (MODE —g2) (L&(h &6toTL_DliLie)LD :

LOSILIGILI6HaT:

5 - 1040153 W6 =26

20-25

25-30 [ 30-35

35-40

40 - 45

LOT6BIT6LIT&H6TT :

5

6 15

10

5 4

2

A:16.21
16.21
B:17.21
17.21

C: 18.21 — (Correct Alternative)

18.21
D:19.21
19.21

If median = mode + x(mean - mode), the value of x is

@enLplemevs Frneif] = Wwam +x (Frner] - Wwas®H) Grezrﬂa) X —60T LOSILIL]

A:l
3

1
3
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| po

— (Correct Alternative)

Wl

w|

Wl

wl

The X intercept of the line which passes through the points (1, 5) and (4, -1) 1s
(1, 5) LDMHMILD (4, —1) 6T60TM L|6Ter & 6T UG GlFeLEYILD BG&HITL 19.60T X— Q6L (h) 6TedTLIS :

A : 3.5 — (Correct Alternative)
3.5
B:7
7
C:53
53
D:4
4

In a standard normal distribution, the mean and standard deviation are :

@ L @uevblemev Ligauedlev &rmaif]l Inmmih S L eflev& s

A : mean = 1, standard deviation =0

grnefl =1, B Lalevdis0n =0
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B : mean = 0, standard deviation = 1 — (Correct Alternative)
gl =0, G Lallevsis0 =1

C : mean = 1, standard deviation = 1
gyl =1, G Lallevsi s = 1

D : mean # 0, standard deviation # 0
Fonsifl £0, B Leevdsn £ 0

One card is drawn from a standard pack of 52. What is the probability that is either a King or a Queen ?
52 6T60T6E00N B 6058 Q& MTevoTL. FL_(h &L 1960 HHS 2(H FL.0) eT(h&H&LILGLLEUTSI
SFEL () TrRmaUmsGalT Sj6V6VS [JTeool IWMEGCIT @) (HE5 Bl&HLDEHE6)| 6T6OTEOT 2

A :4/52
4/52
B:2/52
2/52
C : 8/52 — (Correct Alternative)
8/52
D: 1/52
1/52

The Poisson Distribution is defined as :
LIMUI& 6T LITeuedl6dT euemTULI6n M 6T60T LIS :

m I
A Plr) = e m
rl
m I
Pl = emm
rl
B emmT




57

58

57

58

Plr) = =1
C: —-m T
Pl = e rlm
o —
Pl = e rlm
D —TIY I
P(r) = = | i :
r! — (Correct Alternative)
—I T
P(r) = e 'm

rl

A bag contains 20 balls of which 15 are red colour and 5 of black colours. A random sample (without
replacement) of 5 balls is taken. Find the probability that the sample contains 2 black balls.

&(H 6mLIUIN6L 20 LIH SIS 6T 2_6T6meoT, 2eumMmiey 15 FlaullL] LhSIsEbHLD, 5 &L

LG &5 EHLD 2_6TeTeor. 6TCHFemn & UMS (T(H 55 LIHEHI&eM6T 60)LUI6L GLITLITLD6V)
UWINBHSI 5 LHSIs5emeT 6T(h & E&LIECLUTS, 2 LIHSISH6T & (HLIL| 6U600T600TSH6V @) (HE5H
B1&LD 55 56)| 6TEOT60T ?

A:0.39
0.39
B:0.99
0.99
C: 0.29 — (Correct Alternative)
0.29
D:0.92
0.92

' A
FYis bl n, %]J’rhen PIY = 1) =
LY b




59

59

Y 6T6ITLI) b[n, %] gTeulleL P(Y = 1) =

A g]”
\3
o\
‘\%]

B: ]_{%]”

— (Correct Alternative)

——
W | —

T
- (3]

The other name of 'variance-ratio distribution' is :
AevEsalieHs Frnefl S s LiFaley ererLg LeTal(BHLD 6THS LIFeuedledr Lo Quiwy ?

0 |

A y2_distribution
¥2 LIT6U6V

B : F-distribution — (Correct Alternative)
F - LIT6U6V

C : t-distribution
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t— LIJEU6V
D : Poisson distribution
LITUI6NITE0T LI6U6V

If A and B are finite dimensional subspaces of a vector space V, then dim (A+B) =

(L6 6TeT LIl MetoTD Q& MevTL. Qleud LT Qleuerfl V—6oT @)\ (h 2_6TQeuerflseT A, B 6Tevfl6v dim
(A+B) =

A :dim A + dim B - dim (ANB) — (Correct Alternative)
dim A + dim B - dim (ANB)
B:dim A +dimB
dim A + dim B
C:dimA-dimB
dim A - dim B
D : (dim A) (dim B)
(dim A) (dim B)

If any of the vector form n-vectors x., X, .. Xm, can be expressed as linear

combination of the rest (n—1) vectors, then n vectors are

X;, Xy .. Xm, eT6TUG] GHLED &al GGQST [ euflans OMID (n—1)
CloudbL a6l Clemeog&| eleofled n eulfleng  CloudbL 560 eT60T M)
SHEOLSHEHUILIHLD.

A : Linearly independent
Griflw srym Hengull

B : Linearly dependent — (Correct Alternative)
Grflw Fryy Henaud

C : Constant
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D : Not a constant

A

miledl

Lrpled SimmE

Basis for the vector space C over R is :
Qeus L1y Qeuerl C, LJ6uld R 2 L 60T QL GTITLD :

{1, 1} — (Correct Alternative)

.1}

{1, -1}

{L '1}

{1, -1}

{ia '1}

:{-1}

{-1}

If K is a finite extension of F then G(K, F) is a finite group and its order O(G(K, F)) satisfies :

K eTedTLIgI F —60 62(1H (0196 M1 elifleumsasLd. G(K, F) 62(H (L6 M &6VLD 6T60f16L O(G(K, F)) —60T

aliflena LetTalHLOmm ;

A

O(G(K, F)) > [K
O(G(K, F)) > [K
[

. O(G(K, F)) < [K

O(G(K,F) <[K:

: O(G(K, F))> [K:

O(G(K, F)) > [K :

:O(GK,F))#[K:

O(G(K, F)) # [K :

F]
F]
F] — (Correct Alternative)
F]
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If the finite field F has p™ elements, p is a prime number and m is a positive integer, then every aeF satisfies.
(L6 M1 &H6TLD F —24,60T81 p™ 2 MILIL|&H60)6IT G1&M600T LY (HHSH M6V, p 62(H LIGIT 6T600T LOMMILD m
@(H LM S (LN(LD 6T600T, 6THSHGI6UIM(H acF —LD LI 6dT6U ([HeU6oTeU HMIET 6Tem S LLITSHSH Q& ulub ?

A: m
aP =ag

m
aP =ag

Let f(x)=1 x 1 is continuous at x = 0, but f(x) is :
x =0 ere0rm LjaTerluflev f(x)=1 x | Q& TLF&F&F Ulmeor SEMTQLI6T6V, f(x) 6T6OT LIS :

A : not differentiable at x = 0 — (Correct Alternative)
x =0-al6V UMEHLILMNSHS (DL WITSH06)
B : differentiable at x = 0
x =0 Hemeflullev euensliLB S8 FalqUlenel
C : not differentiable at x <0
x < 0-6l6V UG LIL(NSS (LN WITSH 606
D : differentiable at x <0

x <0-6ll6V UMELILMO S Tl Ul6n6
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: = for all xin R then the value of jf g

14ix R

Given feL(R) and f(x) =

1
 + x2
€T60T6L, LOMMILD f e L(R), jf 60T LD&ILIENL &H6v0T&HSl(h 5.

R

1
1 + x2

f(x) = 6T60ll6L, R @160 QHSHGLD MBI x MGLD f(x) =

A:0

B:2n
2

C : w— (Correct Alternative)
n

D:oo

o0

o o]
“sin— 0
* sme X=2 Then which of

Let f : R » R be defined as the function f(x) = I
D o dE—

the following statements are frue 2

-
x25|n—, x=0

f:R— R 6T60IM &FMLT6TH flx) = X
0O , x=0

ETEOTMEUT) eUEOTILMISGSILLL &) 6T6illed SDEHMIL FoMMIGHeTed 615
2 _6GOUTGMLOILITEUTS| 2

A : ' does not exist anywhere but f is continuous at x =0

f' eTMRIGGLD ) 6VEM6V 60TV f QL eoTSl x =0 —WILEHSH QSHTLFFFWTS 2_6T6engl.

B : ' exists everywhere but f is not continuous at x = 0 — (Correct Alternative)
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f' 6TMRIGLD 2_6TemEl 60TV f 9L6oTdl x =0 WL SIS QS TLFFFIWITS ©)606em6v.
C : ' exists and f 1s continuous at x = (0

f' TRIGLD 2_6Temsl LnMMILD f 60Tl x =0 WL G SIS QSTLIEFWTS 2_6Tersl.
D : neither f' exists nor f'is continuous at x = 0

f'—LD eTRIGLD @ 6Vem6y, 1D x =0 —WILEHGH QGTLIFFIWITS @)6V6m6V.

Let f have a derivative (finite or infinite) at each point of an open interval (a, b) and f is continuous at the end
points a and b. If f' takes only positive values (finite or infinite) in (a, b) then :

f 9L60TS (a, b) 6T60TM HMBHS @) 60 LG el aeTer spelQeum LeTerflullain 616 & ui(h
(N6 6TET 2]6L6V &I (NN QLM MIeTeNS! LDMMILD @ MmIS LI L6686 a LoMHmILD b —6v
fQSTLIFFIWIMG 2_6TemSl 6T6075. { 36075 Llem & LOHLIL|56M6T ((LOLY6Y 6T |60V S
w1geNed) L BID ((a, b )-6L) QLMISBMS! 6T6vfl6V :

A : fis strictly increasing on [a, b] — (Correct Alternative)
f 91L60TS! [a, b] -6V &600TLq LILIMS P& &R 60Tm &L
B : fis not strictly increasing on [a, b]
f 9L60TSI [a, b] -6V &600TLq LILIMTE HND&SHH 0T FMFL| ©)6V606V
C: fis strictly decreasing on [a, b]
f 9L60TS! [a, b] —6V S600TLY.LILITE (&60)M H60TM FTITL]
D : fis constant on [a, b]
f 9L60TSl [a, b] —6L DM
Let P be a partition on [a, b] and P' 2 P. Then :
P 6TedTLISI [a, b] —60T LG M60T LIGLIL| LDMMILD P' o P 6T60T&H. LIGUMS)

A : L(f, P)< L(f, P") and U(f, P"< U(f, P)
L(f, P)<X L(f, P") nmmiib U (f, P)< U(f, P)
B : L(f, P)<X L(f, P') and U (f, P")> U({, P)
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Correct Answer : **

L(f, P)< L(f, P") nmmitn U (f, P')> U(f, P)
: L(f, P)> L(f, P") and U (f, P")> U(f, P)

L(f, P)> L(f, P") nomMmiLb U (f, P')> U(f, P)
: L(f, P)> L(f, P") and U (f, P)< U(f, P)

L(f, P)> L(f, P") nommiLb U (f, P)< U(f, P)

If fc{sl, 5:;1’5} are the Fourier cosine fransforms of f(x) and g(x) respectively, then :

fe(s), ols) eT6oTLIGoT  (LD6MMGILI

2 (HLOTMMMIGET 6T60Tl6D :

A

B:

o0

[fx) alx) dx = [ fels) o.(s) s
0

PR ]

Lo

[f(x) glx) dx=" [ fels) o.ls) ds
0

— o

o

[ fx) gx) dx = [fels) o [s) ds
0

flx), alx) —6ir H,mu_nj Cl&memn & 60T

0 — (Correct Alternative)

[fb) glx) dx = j:f%sj g.(s) ds
0 D

e el L]

[ ) o) cx = [Te(s) Gels) dis
0

— 00

oo L]

{ fix) glx) ax = FC'[S:' g.ls) ds
0

— o0
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[ glx) dx = [Tels) cls) ds
0 0
[fx) olx) dx = [Tels) ocls) ds
0 0

If F{f{x)} = f(s), then F{f(ax)}, a > 0 equal to :

Ff(x)} = f(s) eT6uMl6D o >0 cTILDGLITE) F{f(ax)} =

#(3)

D: flas)

f{c:s]

When Poisson summation formula is applied on

transformation equation is obtained, if x = 0.

8(x) =

III [(] g

M oo

e

— T

X

the




73

73

x> 0 6T60TI6D 6(x) =
n

2 . . . .
e~ ™ g1 18g umiigmeiileir &o(hg 60

o

I|I 1\4 P

GHHTHHene LILsTLGSHSHermed 6T6tT) LOTMMLD QUMM

FLneiTu(hy HlenL_&&U GlumLD.

A

12080
G{XJ = TEI";’i
X o — (Correct Alternative)
108
a(x) = ﬁﬂ i,._;j
B: |

If f is an integrable function on [—r, ] then for all integers m, the Fourier coefficients ¢, of the Fourier series of
f are defined by :

[-7, 7] 6TedT eLplg Ul @ emLQeuerfluilev f (h QO H TS UL HEn QW FTTL| & LD. 6T6V6VIT
WWSHEHET m —& &0, f—60r Ll QSMLIflev 2 6Tem Ll G6eoorsLn ¢, @& LD. f 6T6T LIS :

A
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Cm = — _[ f(x)e™ dx

Cm = — _[ fx)e™ dx

B: ™ .
Cmy = ZL— | f(x)-e™"™ dx
o — (Correct Alternative)
B ZL— | f(x)-e~ ™% dx
C: = %
Gy & 2% | f(x)-e™™ dx
T = 2% j f(x)-e™ dx
D: i :
G 2_]1_ [ f(x)-e™* dx
Cym 2—:_ | fx)-e™ dx

If f(t) is a real odd function then F(s) is, where F(s) is Fourier Transform of f(a).

f(t) eTEOTLIGI 62(H GO spMemm FTITL| 6T6vi16V F(s) 6T60T LIS, (@ MG f(a) —6or W,ilwy tnmmnl F(s)
SpGLD) :

A : a complex function

&(H F&86VIT60T FITTL
B : areal function

62(IH G LDUIGIULIGOOT FITITL]

C : a purely imaginary function — (Correct Alternative)
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Q@ (LW HMHUEET FMIL
D : a odd function
RO RO FTILY
The Gaussian Curvature at every point of a sphere of radius a is :

&(H G&HITETSH 60T QLITLD a 6T60T16L 3| FH60T 6peUGIUT(H LieTer luNavid & merdluIesT 616t 6Tal 6T

7 :
9" — (Correct Alternative)

A necessary and sufficient condition for @ curve v = uft), v = v{t} on a surface
T=rT(u, v] fo be a geodesic is that

u = uft), v = v(t) et6bim CleueMiiled T=T(u, v)] Sp6ord ca(h DGLTCIL 6rii&Ha&ms
Q&S GaHemaULITETHID oMMIh GUTGILOTETSHILOMeT &L (RUILIM(E

A ol g

v cu — (Correct Alternative)




, - 5" = {:]
o cU
B:gflpy . g
oV [#(V]
ToalE v LI
oV [wlV]

ov au

aT ar
o £V %@

v a0

- aT 3T
D: oyl oy g

av EY

3T AT
oyl

av EY

77 77 The radius of spherical curvature is :

G&HITET 6U6M6ITENI60T Y, [TLD

A R=p2-l-~cr2p|]:2

R =p2 -I-crgp]z

B:p_ "pz + o)
k= \ﬂpz - r:rp]
¢ R= 52 + %" -
P P~ — (Correct Alternative)

f ]
R= p2+02p1
2
R /p2_62p1
2
R /p2_62p1
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The Mainardi - Codazzi Equation is :

MLDEOTITILY — CSHITLITH &FLO6TLITL TEOTS :

At Qg — Opp =Toy B + Top s
Qpy ~ Cyp = Ty B + Tap 2
B 0oy — g =Toy Qs + Top O
gy ~ ey = Ty U+ Tep g
€ gy —Op =Ty s —Log Oy
Oupy ~ Oy =Ty B — Top g

Rotating a circle of radius a about a line in its plane and at a distance b(> a) from its centre is known as :

a QYT (LETET QUL SHe0G {560 60l S H 60l HE b(> a) ENTSHH 6V I H6T H6MSHH 6V (B
GHIMLemL LI QUMTIHSS! &LLMHMICISTEV HlemL LIS :

A : The anchor system
BEIGa] Q6mLOLIL
B : The meridian circle
STHHCTeNs aULlL LD
C : Surface of revolution
SrLpMHMedledr LymUiuriiLy
D : The anchor ring — (Correct Alternative)

6l Fa.[J 6U6D6ITUILD
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The critical path for the given network is :

A:0—-1—-2—-54->7

0—-1-2—>24->7
B:0-1-53—-54->7

0—-1-3—-4->7
C:0—-1—-3—6—>7—(Correct Alternative)

0—>1—-3—-6—>7
D:0—-1-52->55—-56—>7

0->1>-2—>5—>26—>7

Economic order quantity (EOQ) follows the following assumptions :
GO MTEDIN | 6DILNITE0T MBI M6 GILITIHETTHITT &L L6M6IT 6T600T6001186m8 (EOQ)
QUMHMIGTETS :

A : Demand is certain and does not vary, It is continuous at a constant rate — (Correct Alternative)
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Gxemel BIFFWILDMeTS LnMMILD CaumiLiRleuHevemev. @8 Blemevwlmeor &) & 55 6v
QSHTLIFFR W Teors

B : Demand may vary
Gz emel CaumiLIhS Ml
C : Demand is not continuous at a constant rate
@ 5! Blemevwimeor B S HH L QGTLIMS
D : It is continuous at a different rate
@ CaumiLLl L R&553 60 Q&ML IEF WITTs)

Direct inventories are classified as follows :
GBI FI&HESSH6T LIeTeuhLo MMl eUem & LB SHS LI (H6TeTeT ;

A : Production inventory, work-in process inventory, Finished Goods inventory and MRO inventory. — (Correct
Alternative)

2 MUSH) &HeooT(HLILLIL], QFWLV—(LNENM FTdH G660 Geuemev, (LPLGESHLILIL L
QUUITIHL_&6IT LIL_LQ.UI6V LOMMILD MRO &600T(h LIlLG.LIL|

B : Transit or pipeline inventories, Buffer inventories
GUMEHG TS 6VEVE! GLOMUI LILIGU16D &evor(HLILg LiL| LDMHMILD @6emLUIS FJEG
&600T (O LIN19 1L

C : Production inventory, De -coupling inventories
2 MUSH FHevor(H LI LIL| LDMHMILD &F 788606 &l600T19.8 &0 & 600T(H LING LIL]|

D : Transit or pipeline inventories and De-coupling inventories
CUTEHGTEHS VLG GLOMUI LIL I UI6L &Hevor(RLING LIL| LDMHMILD F I8 & 5606
S1600T19.5 @& LD 5600T(HILING.LIL]

Average inventory level =

gl UaUUs 560 allemey Sj6me =

A
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&5

84

85

(Total unit over t | + Total unit over t))/t
(t | —60T QLOMSHSH VS +t 5 —60T QLOMHSH H6VS) / t
B : Average level over t | - Average level over t ,
t | —60T FIn&f] 6me| —t , —60T FFMEFf 6mey
C : (Average level over t | + Average level over t )/t — (Correct Alternative)
(t | —60T FO&Ff] 216Te)] +t, —60T FIMEFl ojeT6))/t

D : Average level over t | x Average level over t 5
t | —60T FITEFIf] l6Te)] x t , 60T FTTEFN] 366

Lead time is :

(LN edTeoT600T | GBITLD 6T60TLIS :

A : the time of placing an order
GxemeuemL] LISe| QFulu|ld GHILD
B : the actual time of arrival
Gxemel B em&UIleL HemL &G0 GHITLD
C : the time of availability
ensWI@HLIL GBIl
D : the time gap between placing an order and the actual time of arrival — (Correct Alternative)

USley Qi GHI MM HenL&eL Qumild GBIy @) Fevor(h &L
@ emLGuiwlmeot GBIJLD

An element z in a Banach Algebra A is called a topological divisor of zero if :
A 6T60TM LIM6oTTS @)Wedlev 916mlnibhs 6@ Li6iTert] 'z’ 6TenfleL A — 601l & LOludleoT &) et 6ooT L
S5 ITIT600T 1 U ITGOT TV

Az, ]|=1only
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Iz, || =1 DLGBILD
B: zz, — 0 only
7z, — 0 DL ()LD
C:z,z— 0only
7,z — 0 DL (LD
D:|| z, || =1 and Either zz, — 0 or z,z — 0 — (Correct Alternative)
|z, || = 1 LDOMILD 2z, — 0 S]VEVGI 7,7 — 0
1

Every element 'x' in a Banach algebra for which |[x - 1| <1 then x™" is :
X' — QL 60T LITGTITE @Ul6960 2 6TerT 6a(h L|6iTerf] GLoaiin [jx - 1]| < 1 eTevflev x! eTadTLIS)

A

1+ 30 —xP
n=| — (Correct Alternative)
1+ 30— xP
n=
B: I_ E“_KJ_H
rn=1
-3 =%
n=I
C: = 20—
n=|
= X =]
n=1
D .

TR

rn=1
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&9

87

88

&9

1+ > (14"

n=I1

If O 1s the only topological divisor of zero in a Banach algebra A then :
A 6T60TM LIMeoTmss @) Wwedlev '0' oL (M GLD & LSludl6dT §)6m600T U 85T [T600T UL 60T IT6V

A:A#C
A#£C
B:A=R
A=R
C:A#R
A#R
D : A = C — (Correct Alternative)
A=C
If x is an eigen vector of T, then :
X 6T6OT LIS T —60T 62(H FIMLIL| Het) F UI60T 6T60116V

A : x does not correspond to any Eigen value of T
X 6TEOTLIG T—60T 6Th& FImLIL] oG LI ME&LD MM 6v6v.
B : x corresponds to only one Eigen value of T — (Correct Alternative)
x 6TOTLIS! T-60T G @ FmuiL LHLULINGS g

C : x corresponds to two Eigen values of T

X 6T60T L1gI T—60T @ 6vor(h LI HINMHES gHmsS.
D : x corresponds to three Eigen values of T

X 6T60TLIG T—60T eLneoTml AL LHLILIME& gmHmS.

"If A is a Banach Algebra in which every non zero element is invertible then A is isometrically isomorphic to the
complex field" is the statement of :
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"A 6TEOTM 62(IH LIGOTITE 6LeSLITmelledr el @QeUT(H LLeSlwinmm & mILiL|LD eTH FLOMmI
Q &IT600T LG 6T60116V A 6TEOTLIG F15:860 56118 S 60T 62(H @) UWIVLDTMIT &H60T6MLN Q& IT6v0T L
@uieulnmmMT CHMISHH6V" 6T6OTLIG!

A : Spectral theorem
BIMLWMeneL GHMMLD

B : The Gelfand - Neumark Representation theorem

The Gelfand - Neumark Representation G&mMMmMLD
C : Representation theorem for Banach Algebras
Representation theorem for Banach Algebras

D : Gelfand-Mazur theorem — (Correct Alternative)
Gelfand-Mazur @& MMLO
The analytic function f(z) corresponding to the harmonic function u (x, y) = 2x +y> - 3x2 y is :

u(x,y)=2x+y>-3x%y Egmeot FMJL| 6Teof160 2FHME& QSTLITLITET 3j60TMe0lq & FMITL f(z)
GTEOTLIS

A2 7+i23+1ic—(Correct Alternative)
2z+izZ+ic
B:z+iz3+¢
z+iz3+c¢
Ci2z+73+ic
2z+z3+ic
D:iz+iz3+ic
z+izd+ic

The functions e, sinz and cosz have essential singularities at.
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eZ, sinz LDMMILD cosz FMJL 861607 QeuSUILD 6T 3 HBlemevLiL|eTer] :

A:nm
nmn

B : o — (Correct Alternative)
(e 0]

C:0
0

D:2nnm

2nn

The cross ratio (zy, zp, Z3, Z4) 1s the image of z; under the linear transformation which carries z,, z3, z4 into :
CBICHTL(H 2 (BLOMMHMEH 60T HLD z; —@)60T LILDLILD (21, 25, 73, 24) 6T6OTMN GMI&HES AR SHIOMTSH
@ BBHITV 75, 23, 74 —60T LOHLIL|SHETTEUS :

A:1,-1,0
1,-1,0
B : 1,0, 0 — (Correct Alternative)
1,0,
C:-1,0,0
-1, 0, ©
D:1,2,
1,2,

If f(z) is defined and contfinuous in a region Q and if ['fdz=0 for all closed y in
T
Q, then:
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flz) €T60TI) EUEDMLIMISSLILIL L DMMID QST FEFEILITET FMJL| 6T60TLISH| O
LGN GLogith [ fdz=0 €T6iiLg| O —-@ed cLplgiLl ¢ ene6] €Teumed -
Y

A : {(z) 1s analytic in Q — (Correct Alternative)

f(z) @(H LUGSLILITUI®| b8 Q -6V 2_6TeTS.
B : f(z) is not analytic in Q

f(z), @ -@ 6V 2 LGULIMIIE IDDSI.
C: f(z) is analytic at y

f(z) 6TEOTLISI v —@)6V 62(H LIG LILITLIG)
D : f(z) is not analytic at y

f(z), v —@)6V @ LGLILIMTUIE| DM

If f(z) is analytic on a closed curve v then J@ f'(z) dz is:

LT
i

v 6TEMILD CLPlg Il euemeeled f(z) U@G(WemMmE &FmijL eTeofleL ] (z) F'(z) dz
¥
—601 LO&IIL :

A : zero
LBglwiid
B : one
6REOT )
C : purely real value
QU UGS L (LD
D : purely imaginary — (Correct Alternative)
SHMHUemeT UGS oL (hILD
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96

Himinate the arbitrary function F from the eqguatfion z=F[£} and find the
Y)

comesponding partial differential equation.
z=F IE] 61601  FLOGTUIML g 6edl(Hh& &MY F -2 H&EH uGH aume&6leLn
Y

FLOGTLIT(E &HIT6E001.

A :px + qy =0 — (Correct Alternative)
px+qy=0
B:py+qgqx=0
py +qx=0
C:pq=xy
pq =Xy
D:px=qy
pX =qy

[S—

B: 2
T — (Correct Alternative)

9 | r2 >HM
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10
Let Pn(x) be the Legendre polynomial of degree n= 0. If 1+ x10 = > C,, Faix) then

n={

Csequals :
Pn(x) €T60TLI&H] €2(h n =0 Uiglienian GleuSeiorij LsD@IIMIILG GHTsN6 h@ELD.

10
14+x'% = 3 C, (X 6l60fl6d Cs FLDLOTE0TS) :
ri=0

A : 0 — (Correct Alternative)
0

B: 2

]

2

]

@
..
— —_ =iy

D:E
2

¥
2

The general solution of (y -z)p +(z-x)q=x-yis:
(y-2)p+(z-X)q=X -y 6T60TM QUNEHHCE(DEF FLO6OTLITL Q60T QLIMSIS ST6) :

A p(x+y+z x2+y%+2z2)=0— (Correct Alternative)




p(x+y+z x2+y2+2z%)=0
B:okxyz,x+y+z)=0
o(xyz,x+y+z)=0
C:p(xyz x> +y*+2%) =0
o(xyz, x2 +y2 +22)=0
D:px?-y2-722,x-y-2)=0
o(x2-y2-22,x-y-2)=0

» » P, (x), the n'? order Legendre polynomial, then the value of Py(x) is :

P,(X) 6T6OTLIG LILQ n 2_6T6IT G160 82600TL_[J LILIMILIL|S C&ITen 6 6160116V, Py(x) —60T LOGHILIL]

] 5
— (3x= =1
2[ l

B: 1 (35x* — 302 + 3) \
8 — (Correct Alternative)

é (35%x* — 30x% + 3)

C:1

1

D:l{5x3—3x,'|
2

1 (5% — 3x)
2

100 100
. : g e eV 0<x<w
A Joint Density of X and Y is given by flx,y)= ——F—, compute
v O<y<ewm

E[X]Y =vl].




X MM Y -1 GEFIUY SILTHE smiusbsenen C&mHSSILL (Hereng)

e_fo g ¥ 0<x<m

flx, y) = " e Elx|y = y] D&IG({ES.
A:iy?2
y2
B : y — (Correct Alternative)
y
Ciy3
y3
D:y4
y4

101 101




Given Joint Distribution of X and Y, find the Marginal Distribufion of X.

X
‘\\\\\\ 0 i 2
Y
3 9 3
O SR — S
28 28 28
3 3
1 7] 3 0
2 LA 0 0
08
Gar(h&sUul(pemen X WHmD Y, G&JUL UJeIsdled, X —60T LOMTeAlemed

LIJeU6M6Y SHeBoTL_MliLIeyLD.

X
\ 0 1 2
Y
3 ? 3
4 3 il =l
28 28 28
] 3 = 0
14 14
9 1 0 0
28
A:15 6 1
28° 14" 278
15 6 1
28" 14"
B:10 15 3
28 28 28 _ (Correct Alternative)
10 15 3
28" 28" 28




15 13
28" 28° 28
D: 1 15 &
28" 28" 14
1. 15 ¢
28" 28" 14

102 102 i A i : .
A continuous Random Variable X has a probability Density function.

] — o0 < ¥ < oo

fix) = 1-(1 + x2) find the Distribution function of X.

i,

0 , othenwise

Clam(B&HSULL (heimen, CIGTLI] FLOILIEUMIIIL X

1
L, — XS e

)
o sdes

X 60T LIT6M6D &MIJ6LI &60oIL_HILIGYLD.

flx) =

A 2
{’ron_‘x — I]
2%

SR

[’ron_‘x -z ]
2)

d =

(.’r{m_}x + 'EJ

3| —

; oy
(i{m_}x + lJ
s 2

3 |-

[’ron_]x + E]
4,

o Jivem




— (Correct Alternative)

103 103
Let X be a continuous random variable with probability density

“ 4
fix) = 4 w1 + x?)
l 0 otherwise

forO<x=1

Find E{)';].

X 61601 CHTLI] Foeumiii wrihiiler HspsHse] SLjHH FmjL
.4 &

fix) = 4 w1 + x%)
0 LDMDLILG. GTE015

O<x<]

E(x) —60T LO&II6NL SHIT6H015.

A log?
log?
B: log4
T —(Correct Alternative)
log4
m
C: log4




log4
D7

D: log2
47

log?
47

104 o4 Find the value of P(B /A ©) when P(A/B) =1 .

5115 & 607607 15150 & & 660 P(A/B) = 1 eT6Tm Blemeotalev 685 Teoor LITev P(BE/AC) 6T60TM
1B LITH & 6m 60T 1515 LD & Sel60T LD L6018 &6voT(h L1985 61D :
A:0

0

:
2

3
2
C: 1 —(Correct Alternative)
1
D:

o | —

|

105105 A probability density function is given by f(x) = c(4x - 2x 2); 0 <x < 2 ; zero elsewhere find P(x > 1).
Q@ Bl&HLDEHH6] SILTSHUNT FMTUTeTs! f(x) = c(4x - 2x2); 0 <x <2 ; LL3e3lWILD LDMHMmem6l
6TEOTM)I 85 (HG)60TITEV P(x > 1) —83 &5 T600TSs.




13
B: 5
12
9,
12
C: 1
2 _ (Correct Alternative)
Al
2
D: 1
10
t
10

106 106 From the following distribution, which is the students t distribution ?

Q&TH&HSLILIL(H6TET LIT6U60&6MTI6V, LDTeoT6) [ 61T160T t LITeU6L 6T ?

AT =3 oo

i=1

f:ﬂ=i (x, —M/G:

i=1

B: P s 74
2] /2
— (Correct Alternative)

—[n+]
(2 (n %
fi=k 1+ =

n

C: P [n+i%
fit)l=11+ —
n
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108

107

108

f(t)=

ft)=

ft)=

2
I+L

Fa

e £

(n+1)/

" [n—l%

[n—l%

n

What is the formula to find the population variance ?

HS GHSHTHMSL LWeTLRSSH (DD G5 MELILIN60T L mmILITL 1960607
&600T(H LN 19 & &H6VITLD ?

A: g2 =62 '
o Sug SN (Correct Alternative)

62=G%><r'1
B: {TEZU%X n
GEZUEX "

X
C: 62=G%><ﬂ2
02=G%><ﬂ2

o
Q

R
I

]
® 3
b4

=
i

q
I
q
X
5
g

The ¥ statistic is equal to

v 2166 G85Med 60T (& G\ [TLD 6T60T LIS

A
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2 oty
X =3 o

2 (f,—f, )
X =3 0

X £
2 _ 5 (-FF
X .
by )
2. e o
x° =2
LT,
bk
2 _ =" o
X =2
fe 1:=::I
5 (f,—f
2 _3 o e
X fefo
5 (f,—f
L _w% |0 =
X fe fD

— (Correct Alternative)

Tukey's yardstick for comparing block means is :
L&8en WmFervlq Sleor &L &g iullesr eLiL|emLnulmeTs :

A

®=q, (bdf

®=q, (b.df)

® =Qqq (b, df]

® =qy (b.df)

S
Jk ‘ — (Correct Alternative)

&3

N3

2

N3
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© =dy fb,de[

|
|

~%& =%

® = g fb,dﬂ[

Do =4, b.an \%I

®=q, (bdf la

A coin was tossed 900 times and head appeared 490 times, and the coin is tested for unbiasedness. If the null
hypothesis Hy, 1s "the coin i1s unbiased", then :

6(IH [HIT600T WILOTEOTSI 900 (LN 60) M & 6T &+600T L LILI(N ST &I, @56V 490 &L_6016U &H60I6V
QUMLILIMSB M LDMMILD [HT6ooT LS H) 60T H(H Hl606vs SHeoTenlnemnll CFEMREEHLILGTHMmS.
@)6LeM6L eTEILD T(HBHITET Hy) 6T60TLISI " T6u0TWILD H(HHI60I6VLLIT60TSI" 6T60T 16V,

A : Hj is rejected at 5% level but accepted at 1% level.
5% 2lemeilel Hy LnMIS & LILIMSH MSI. 24,60Tm6v, 1% 2jemelleh Hy gm&LILIhSHma.
B : Hy is accepted at 5% level
5% oemailel Hy gm& LIS S
C : Hy is rejected at 1% level — (Correct Alternative)
1% jemaileL Hy Lomis& s LILGSmS).
D : Hy is accepted at 1% level
1% olemelleL Hy g M&LILGSH M.

Which of the following is not the characteristics of growth ?
L9 65T 6L (TH 6L 60TEU M MIGIT 6T 6U6T &G Ul 60T LIGTOTL| @)6V6m6V ?

A : It does not continue throughout life
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113

112

113

@&l UITDIBITET (NWEUSILD B4 & & TS,

: It describes the changes in the organism as a whole — (Correct Alternative)

o Wilfleormigserflev gHLB S 6TM 60601 S LM MBI M 6T LD & N8 & 60T .

: It can be measurable

@ Hemeut emell (B MW (PIg U]

: It is purely physical sense

@S WMNIsVID 2 L 6V eUETIFF MUH GHMI&HSH 0TS

In Piaget's Cognitive development, the formal operational period is from :
Hwrméuiler omlgev euemigFs mlensuuiley, @uichLimes Q& ulsuLI(RID Hlem6eVWITETS :

A : birth to 2 years

LUl p&6eL 2 euulg! aUeniy

: 2to 7 years

2 (NSH6L 7 QUG QU6

: 7to 11 years

7 WSH6L 11 alUISI U6

: 12 years onwards — (Correct Alternative)

12 - euwWH MG GLoev

Upto the age of 3 years, the child cannot concentrate for more than seconds.

3 QWS QUM 62(H &LLIH6E0I & U6V

A : 5 Seconds

5 QIBITIY & 6T

B : 6 Seconds

6 QIBITLY & 6T

QBITLY5EH &G CLO6V S6U60l168 (LNLQWITS.
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114

115

C : 7 Seconds

7 QBT & 6T
D : 8 Seconds

8 QBITLY&H6T

Correct Answer : *

plays the most dominant role in the individual's socialization.

& 601106071 & 6011 60T FeLNGOWIDMTSH IS G (NSHHW LIMIEG LM MILI6UT

A : Family — (Correct Alternative)
&GO UL
B : School
LieiTer]
C : Society
Fens LD
D : Media
26510

Kohlberg defined levels of moral development.
G&HIMLGILITE 62(L055 QU6 & T ullemeor Bl6M6V&HEITTS 6U6MT UM OTMITH.

A

vy
Lo W W NN

— (Correct Alternative)

@)




D:&
8

116 jlle Find out the learner related factors of learning.

FHMHMEO6V LDMEToTEUT Q& TL [T LIMTET &ITIF600l 160Ul & 600T L1 :

A : Mastery over the subject matter
UTLLIQuUm@efley CHT&&

B : Readiness and will power — (Correct Alternative)
SWITIBleney LDMHMID L0GETTLIGVLD

C : Mental health of the teacher
S flwirfleor DeoTHEVLD

D : Behaviour of the teacher

A flwiflerr LSS

R Y In which stages of human development, the mental development reaches almost at its maximum ?
LD6OT QUG T&FFIWIMTEOTS!, L060T1 &5 GLOLDLITL.LQ 60T 6755 Blemevuileh G & LILILG UIT6T

QUETIEF 60 ML PMS! ?

A : Later Childhood
L eor LNeTemerm LIHeULD
B : Early adulthood
e NS LIheULD
C : Later adulthood
L edT (S [J LIHeULD
D : Early Childhood — (Correct Alternative)
(6T LIl6TemerT LIHeULD

118 118 "Creativity is the ability to evoke an emotional mood". The above statement is related to which of the following




119

119

profession :
"L L LILITMM6L 6T60T LIS 6(IH 2_600T[J&F G LD6OTHl6mevem 2_(H6UTaH G LD Hmeor". GLnm & 6vorL
Famenm Lletauld Q&TEICTH OSTLFIL LGS SIS.

A : architect

&HL19L 6ULQEU6DLOLILITETIY
B : Scientist

611 &b 6 6ot |
C : Teacher

LS flwy
D : Artist — (Correct Alternative)

FHEM6VEHIT

The following are the hierarchial set of basic needs suggested by Maslow.

1. Love and belonging needs

2. Self esteem needs

3. Physiological needs

4. Safety needs

5. Self - actualization needs

What is the correct hierarchy of above needs ? Choose the answer from the codes given below.
LY edTeu a6t LDmenBeumedledT 3iq LILIenL (&G CSHemalSH6TTELD.

1. 96T & CFH6m6UE6IT

2. HEOTNHLIL| G606 SH6IT

3.2 LeVEMIHS CHeMeUSHET

4. UMSISTLLS CH6e06UH 6T

5. GLOETENDWITEHH S G 606U 6T

GM & 60T CH 606U EH &S meoT &iflulmenr auflend wimal ? LNereud & mluT(h & erfleor
epeuld Fiflulmeot ellememnwl CHIHASM) :

A:3,4,1,2,5— (Correct Alternative)
3,4,1,2,5




B:1,2,3,4,5
1,2,3,4,5
C:1,5,2,4,3
1,5,2,4,3
D:2,4,1,3,5
2,4,1,3,5

120 /120 Laissez Faire leadership includes :

SIS Q5 TETeMNS &He06VenLNSSIAID 2 6TeTL &6 |

A : Group decisions

S WIS (PIIGDHISH 6V
B : Authoritative attitude

ST SMTLILLTE (S (LN
C : Complete freedom to its members — (Correct Alternative)

FeoTenlen LW 2 MILILN 60T SHEH& G (D (LeMLDWITET &HHSH TLID 6rflliLg
D : Leader himself gets all credit

Fem6eval] DL (HIGLD 36M60TSH Sl [H60TL0HLIem LIUL|LD QLIMI6I S

121121 The theory of self actualization was originated by

&l GLOETEMLDUITHSHE GHITLLITL LY60)60T8 Gl&M600T(H 666 [T

A : Piaget
Lwmresy
B : Kretschmer
&R L6
C : Maslow — (Correct Alternative)
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122

123

LomeruGeurt
D : Ostwald

24,666V (h)
"An individual does something as a substitute for something else". The above statement is one of the defence
mechanism which is called as

"6 ([ LD6OT1 & 60T FHMTAUSI @6TeNM QFUIISMHEG LDMTMMTH CGeuml F&HTEUS! 660T6M M
Q&FWegI". GLDM&600TL eUMTEHRIWILDTETS! &MDHITLIL| HL_5 6058 @H6IT 6260TMI — 3| S
MPSH&LILIGILD llsLD.

A : Regression
LY edT60TEmL_6Y
B : Denial
LOMILIL]
C : Compensation — (Correct Alternative)
(B Q&FUISH6V
D : Displacement
@LUQUWTES
"An individual seeks satisfaction in associating himself in some way with the success of others" is one of the
defence mechanism which is known as

"Ymrs QeaummGwWm(® gCSHIT 6 eUem U6V &60Tem 6T @)6m 6T Gl&FULIGUTH 6V 560t Ln6of1 5 60T
FHLIS W CHHGMTET". 6T6OTLISI SMETLIL| [HL6UL.5 6085 GH6T 6260TMI. 3|
mMwit@ ellsLb.

A : Projection

W edTent i B 6v
B : Withdrawal

L 60T6U IT I (& 856V




C : Identification — (Correct Alternative)
(9) 60T %1 85 ITG00T 6V

D : Day-dreaming
LI&M & 60T6Y &IT6D0T6V

124|124 Which among the following is not the principle of Guidance :

LY edTeumeueoTeuMmMI6T ULOETL (NS a& & meor CaHMLLIM(H) 6T {606V ?

A : Continuous process
QSMTLIEF IMTET Q&F UI6V(LN6M
B : Based on flexible code of ethics
QB&ELpeumer QB enmaetler o1 LiLiemLuilev
C : Organised service
QR(MISHOINESLILIL L CFemel
D : Slow process — (Correct Alternative)

QLOSIGUTE0T G1&F LIV (LN6DYM

125 123 According to Minnesota Occupational Rating scale, the level of intelligence was divided into

NeorCamLLT QSmLEleL IDFHLILTL (H 2)6meyC8med6dTLIL., Hi60oT600T M6 Lr‘;]emeumrred@
2.5 LNflsasliubG S erma.

A : 6 Classes — (Correct Alternative)
6 6UGLIL| 86T

B : 5 Classes
5 QUGS LIL|&6T

C : 4 Classes
4 QUG LI &6T

D : 3 Classes
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127
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3 QUG LIL|&6T

Match the following :
Commission

Year of Submission

(1) Wood's Despatch (i) 1882

(2) Hunter Commission (ii) 1854

(3) Sargent Report (iii) 1929

(4) Hartog Committee (iv) 1944

LT6oT6x (IR 6U6TEUM M) CILIT(TH &SI -

G(LD FLOTUNSSLILIL L S6001(h

(1) 2 |” 60 I H6NH (i) 1882

(2)  QEIIL [T G(LD (i) 1854

(3) G600 M BN (i) 1929

(4 aniL& G (v) 1944

A (1)-(1); (2)-(11); (3)-(iid); (4)-(iv)
(D)-(1); (2)-(11); (3)-(ii1); (4)-(iv)
B : (D-(i1);(2)-(iv); (3)-(1); (4)-(iii)
(D-(1);(2)-(1v); (3)~(1); (4)-(iit)
C: (1)-(1); (2)-(iii); (3)-(1v); (4)-(i1)
(D-(@); (2)-(iib); (3)-(1v); (4)-(i1)
D : (1)-(i1); (2)-(1); (3)-(iv); (4)-(ii1) — (Correct Alternative)
(D-(); (2)-(1); (3)-(v); (4)-(iid)
The Domain of growth is concerned with :

aleTI&E LNifledletr QaMLTLemL WS :

A : Quantitative aspects — (Correct Alternative)




6T600T600T | U6V Fo M1 5561

B : Qualitative aspects
ST FTTHS Fo DG 6T

C : Development aspects
(LP6OTGETMME Fo MIB6IT

D : Continuous throughout life
GUITLDIBITEIT (LD (LD 60)LD &> 85IT60T

128 128 The symbol of development of knowledge in children is :

GLhenguller 2nley aueryaeF uler &leoTeorTld eTeoTLILI(H 6L S

A : Intellectual Development
I51600T600T M6 GUET & &)
B : Emotional Development
LDEOTQ U EFF aueT &S
C : Language Development
QL MESH Mt eU6T e S
D : Cognitive Development — (Correct Alternative)
2iMley FMIHS aleTi&E

1291129 Tachistoscope is first introduced by :

LITHenvLmervGaITL —UllemenT (LN&60T (LP&69160 HMI(NELILGSH U6 :

A : Freud
Ligmulll
B : Gardener

SHTTL 60T




C : Cantell — (Correct Alternative)
&ITE0TL_6V

D : Sheldon
Q@ 6Q6VL_60T

1301130 Didactic apparatus is associated with :

9L m&198 SmHNCWTH QsTLILLIUGSSLILIB6US

A : Motivation
2615 &0
B : Sensory training — (Correct Alternative)
Ljeu Il m&
C : Attention
&6160TLO
D : Memory
bl emevre
The gland responsible for many changes in the personality is :

LEpemouilev LIMLIEV IDTMHM&EenS gMLBSSID ST

131 131

A : Thyroid Gland
STl sl
B : Pituitary gland
Cw il &yl
C : Adrenal gland
I Feorev &Ly
D : Ductless gland — (Correct Alternative)
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BreTleVeu &L

Traits of a personality in its unconscious aspect is shown in :

& 60160 600T TEU MM GLP6016L 3, 6H6m LOUII6IT LIGT0TL| & Fo MIS6M6T Qlaue LI & SHIH6V :

A : Projective Technique — (Correct Alternative)
afLp6L HIsewI& &0
B : Situation test
GV LIFIGF TS em 6ot
C : Dream Analysis
FH60T6Y LIG LILIMUIG)]
D : Case Study
SeofIBLIT LIg Ly
The factors namely Mereclity, Experience and culture contribute to :
LOIL, &ILIQILD LOMMILD LI6ooT LIM(H) 24,8 W &ITT600T &6 LIMk&H6rlLLg! :

A : Learning
&HMHM6Y

B : Attention
&H6U60TLD

C : Personality — (Correct Alternative)

3,@eb60) L0
D : Growth

UG &G
The two goals are equally attractive in the following :
B LD & 5600T 6L M MI6T @) (H @605 &5 EHLD FLOLDMS UFSTINTES @ILILIS




A : Approach Conflict
91600 (& (LN6MM OG0T LIGLITIITLLLD
B : Approach - Approach conflict — (Correct Alternative)
9600 (& (D60 — 2 6T (& (LN6M M LN6oT LIGLIMFITLL LD
C : Avoidance conflict
LIM& 860011556V 06T IGUITTTLLLD
D : Avoidance - Approach conflict
L|M 8586001155 5560 — 3| 6001 (& (N6 M OG0T LIGLIMTMLL LD

135 135 The theory of primary mental abilities is given by :

QBMLES LN6TQ&F UILLIM(H &6rfleor &L LIML_19.60)60T QULDHIG WIGUT

A : Thurstone — (Correct Alternative)
&TIervGLTeor
B : Guildford
SevCUMT(H
C : Alfred Binet
2LVl NTL Neorl
D : Adler
L6
According to thorndike, identical elements is a factor of :

SITT600T60 L& & 60T T MMILILILG 625585 Fon MIS6T 6TEOTMN STI600T QG TLFLI6ML IS ?

136 136

A : Positive Transfer — (Correct Alternative)
@B IILOEemM LOMMMLD

B : Zero Transfer




LLEU! LOMMMLD
C : Negative Transfer
6THJLOEMM LDMHMLD
D : Classroom Transfer

UG LILI6mM LDMMHMLD

137|137 E.G. Williamson is a specialist in :
E.G. elevedl WD 60T U6V VBT TS SiTevorLILI(HeUS
A : Educational Guidance
&Hevall U ST L6V
B : Directive Counselling — (Correct Alternative)
QBOILILESSID SADleyenT L&TH60
C : Non-Directive Counselling
ST erMILILG D i MleemT L&HTEH60
D : Electric counselling
QUMSI Blemev SMleemn T LIS TEH 60
138 138

According to American educators custodial group of mentally retarded children have :
QW85 &6Vl WLIMETIE6N 60T SaMMILILILG S6U60TLD Cl&FaI5 S GeueooTlqL LD6TS6mallev
LNeT& MBI W & Lo1Hen & Sserfler IQ :

A:50-751.Q
50-751Q

B:25-501Q
25-501Q

C:0-251Q — (Correct Alternative)
0-251Q




D:75-1001Q
75-100 1Q

1391139 The tests about plateau in a learning curve was carried out by :

FHMHMeV euemeTalley & &8 Blemev LIMMI LI6v GF TS 6m60TSH6m 6T GLO MG &5 TEvoTL_6U &5 6T

A : Harter and Gardener
QMITFLI LDMHMILD ST 60T
B : Harter and Bryan — (Correct Alternative)
QMMTTLF LDMHMILD LG FuledT
C : Bryan and Boyd
LNQywest Lommild Limuslc
D : Bryan and cantell
LN QI uledT LoMMILD & IT60oT L6V

1401140 The law which explains the formation of habits is :

LILD &85 MBIG 6T 6TeU6UTMI (16U 60TM 60T 6T60T LIS 60607 eMl6mEs & LD el W et Sl

A : Law of Exercise — (Correct Alternative)
LWIPHE IS

B : Law of Readiness
2bWHS 6ilG)

C: Law of Effect
aflemera] alG)

D : Law of action

Q&FWe6L alH)

141141 Which is a tributary of river Palar ?
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LMoV M M) 60T S5160)600T WITM)I 6TS! 2

A : Noyyal
QBTUUI6eL
B : Cheyyar — (Correct Alternative)
Q&FWIWImmI
C : Amaravathi
S| TeuH)
D : Chinnar
&\ 60T60OT M)
What is the population density of Chennai ?
Q& 60Tem 60T [HSH 60T LDS FHETLT&H D) 6T6)UI6TE) ?

A : 30,903 per sq. km
F.5 .00 L[H&E 30,903 GUIT
B : 29,803 per sq. km
F.9) .15 L[H5E 29,803 QLT
C: 24,803 per sq. km
F.9) .15 L([H5 G 24,803 GLIF
D : 26,903 per sq. km — (Correct Alternative)
F.9) .50 LIH&E 26,903 GUIF

Consider the statements given below and choose the right option from the given :

Statement-I : Tropical Evergreen forest is found in the regions that receive heavy rainfall.

Statement-II : Tropical Evergreen forest is a dense, multi-layered forest . It is found in the upper slopes of
Western Ghats of Thirunelveli, Kanya kumari, the Nilgiris and Coimbatore districts.

FCL QBTHSHELILIL (D 6TET 6UTEH S WLIMISG6T &([HSH 6V G&mevor(h &Fiflwimer allemLenuis
CaIHOSH &&E)LD.
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GUTG R WILD I : QeULILILNEDTL 6V LIF6mLD LDMMTE: HMT(H 56T @)\HS eUend: & ST(H & 6T
L& 3 86160 & mevor L1 LI (h 6 60T m6oT.

GUTSGH WD 1T : QEULILILDEDOTL 6V LIG6MLD LDTMITE &HMTH&6T. @606l L[JHS LDMHMILD
D& FR 66T 2 (H) 5 86T Q& MTE0oT LGS & 6ot L1 LI(H &) 60T medT &) (H 6 HeLEeu6,
SereolWM@&GLOI], Hev&H Il LnMMID GHTWIDLISSTT LMeUL_ L his6rf160 2 6Term GLM &
QsMLIER emevuwiler &ifleyaerflev @ emeu & meoorLiLI(H &) 60T m6oT.

A : Statement - | is Right. Statement - II is Wrong
QUTSHEHWILD [ &FiflwmeoTgl eum&SHIWLD 11 SeUMTETS!
B : Statement - I is wrong . Statement - 11 is right
QUTEHSHI LD [ HUMTETS 6UMTHSHWILD 11 Fiflulmers
C : Statement - I and Statement - II are right — (Correct Alternative)
QUM WD I LMoL 1T FFlwmers!
D : Statement - I and Statement - II are Wrong
QUTESSHIWLD [ LoMMILD 11 SeUMTETS!
Tamil Nadu which District stands second in Inland Fishing :
SLOILPHTL g6V 2 6T BITL(h 6ot LN19 L1196V 6THS DMeUL L LD @) FT60oTL_ITLD @)L & &6V 2_aTena ?
A : Sivagangai — (Correct Alternative)
Flou s mien &
B : Vellore
Ceuguriy
C : Salem
G&Feuld
D : Karur

&CH T




The Indian city in which the world's worst chemical disaster happened ?

6THh& @QHH W HHTHH6L 2 VHRCLCW B CTELNmeoT @Iamwer CUITLle] BlI&HLDbBSHSH ?

A : Mumbai
(LPLDEMLI
B : Bhopal — (Correct Alternative)

GUImLUImeL
C : Lucknow

6L Ge6oTIT
D : Calcutta
HFVHSHT

146 146 Who is the highest paid athlete in India ?

@QbFHWTellev & & 2erF) LD QLmID edlememwmTL (R eSFF Wiy 2

A : Virat Kohli — (Correct Alternative)
afymL. @& mamed

B : Mahendra Singh Dhoni
INCHBHH T FIkl G55 meof]

C : Sachin Tendulkar
FFF T QFH600T(H LS [T

D : Rohit Sharma
CGUm& s FFLOM

147|147 The Abbreviation of MCB :
MCB 6TedTLIG60T el [fleum& 1D

A : Miniature Circuit Breaker — (Correct Alternative)
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FAdlw WleoTe MM 2 6oyl L1L9)
B : Minimum Circuit Breaker
GSOMHS 3l6me] Wlesrarmm 2 emL L1
C : Maximum Circuit Breaker
3155 gj6re] WeTamm 2 el LI
D : Micro Circuit Breaker
mlevorevof Wl LOl6oTa: M @ 6oL LU
pH of pure rain water is around 5.6 due to dissolution of :

STl enpbifler pH LDGLIL] 5.6 3,5 @) (HH &S STT6orld Lnemniblév eI hHH (He G LD :

A : Atmospheric Nitrogen

au6rf1L0 60T L6V &G VI 6IT6IT 6MIHL_ [ 82607
B : Atmospheric Oxygen

au6rfl L0 60T L6V & P 6vI 616 24,8 6n0leg 60T
C : Atmospheric Carbon dioxide — (Correct Alternative)

a6l LD 600T L6V & P 8VIGIT6IT & ITITLI6OTe0 L 248606 (h)
D : Atmospheric Carbon monoxide

U 6rf1L0600T L6V & S @66 &ITITLIGOT GLOM60T TE 60 & (b
In the scattering of alpha particles experiment which foil is used ?

SLLLIIT SIS6T F1HM6L CFMHemet W6V 6THS QN6 H8(H LIWeTURSSLILIL LS ?

A : Zinc
SISSHIELD
B : Gold — (Correct Alternative)

&HMmIG&HLD
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C : Aluminium

| svidleofluiLlh
D : Bismuth

e g
The Nobel prize for medicine 2020 was awarded for the discovery of virus.
D[RS SHI6U Slenmuilev 2020- 6V CHITLIEY LIKfla meUTenF &HeooT(HLINY &S HMHSH TS
ULPMBISLILIL L &I.
A : Hepatitis -C Virus — (Correct Alternative)
aMILIMLY 1q 61V-C 6D6UIT6I
B : Delta Virus
QLGVLIT 6meUT6en
C : Hepatitis -B Virus
QM LIMLY 19 61V-B 6m6) 761V
D : Herpes Simplex Virus
QamiLIen FIDLIC6VE 6N 6m6eUT6er
*Indicates all the options are incorrect, marks will be awarded for the respective questions during the evaluation.

**Indicates deleted for evaluation.




